ORDINANCE NO. 2024-05

AN ORDINANCE OF THE CITY COUNCIL OF THE CITY OF ENCINITAS, CALIFORNIA, SETTING CARDIFF SANITARY DIVISION SEWER SERVICE RATES

WHEREAS, Encinitas Municipal Code section 18.08.030 authorizes the City Council of the City of Encinitas to establish sewer service rates by ordinance; and

WHEREAS, notice has been given that a public hearing be held on April 24, 2024, on the necessity to adjust Cardiff Sanitary Division sewer service rates for bills dated on or after July 1, 2024; and

WHEREAS, said notice of public hearing was done in accordance with Proposition 218 and all other statutory requirements, and

WHEREAS, such hearing was duly convened at the Council Chambers of the City of Encinitas and at said hearing all interested persons were given an opportunity to be heard; and

WHEREAS, the City Council finds that it is in the interest of the City to adjust sewer service rates for the Cardiff Sanitary Division.

NOW, THEREFORE, the City Council of the City of Encinitas, California, hereby ordains as follows:

SECTION ONE:

- 1. That the Cardiff Sanitary Division sewer service charge rates for bills dated on or after July 1, 2024, shall be and they are fixed as set forth in Exhibit "A" attached hereto. This rate schedule will remain in effect until further adjustments are made by the City Council.
- 2. That the sewer service charge rates established by this Ordinance do not exceed the estimated amounts required to provide the services for which the rates and charges are levied.
- 3. That the foregoing changes and establishments of sewer service charge rates of the Cardiff Sanitary Division are for the purpose of meeting operating expenses of the Division, purchasing and leasing supplies, equipment, and materials, meeting financial reserves needs and requirements, and to obtain funds for capital projects necessary to maintain service within existing service areas.

SECTION TWO: ENVIRONMENTAL COMPLIANCE.

The action being considered by the City Council is exempt from the California Environmental Quality Act (CEQA) because it is not a "project" under Section 15378(b)(5) of CEQA Guidelines. The action involves an organizational or administrative activity of government that will not result in the direct or indirect physical change in the environment.

SECTION THREE: CONSISTENCY.

Any provision of the Encinitas Municipal Code or appendices thereto inconsistent with the provisions of this Ordinance, to the extent of such inconsistencies and no further, is hereby repealed or modified to that extent necessary to affect the provisions of this Ordinance.

SECTION FOUR: SEVERABILITY.

If any chapter, article, section, subsection, subdivision, sentence, clause, phrase, word, or portion of this Ordinance, or the application thereof to any person, is for any reason held to be invalid or unconstitutional by the decision of any court of competent jurisdiction, such decision shall not affect the validity of the remaining portion of this Ordinance or its application to other persons. The City Council hereby declares that it would have adopted this Ordinance and each chapter, article, section, subsection, subdivision, sentence, clause, phrase, word, or portion

thereof, irrespective of the fact that any one or more subsections, subdivisions, sentences, clauses, phrases, or portions of the application thereof to any person, be declared invalid or unconstitutional.

SECTION FIVE: EFFECTIVE DATE.

This Ordinance shall take effect and be in force thirty (30) days after its passage and the City Clerk of the City of Encinitas is hereby authorized to use summary publication procedures pursuant to Government Code Section 36933 utilizing the Coast News, a newspaper of general circulation published in the City of Encinitas.

This Ordinance was introduced at a regular meeting of the City Council held on April 24, 2024.

PASSED, APPROVED AND ADOPTED at a regular meeting of the City Council held on the 8th day of May 2024.

Kram

Tony Kranz, Mayor

ATTEST:

DocuSigned by:

Kathy Hollywood

Kathy Hollywood, City Clerk

APPROVED AS TO FORM

—DocuSigned by: Tarquin Preziosi

Tarquin Treziosi

Tarquin Preziösi, City Attorney

CERTIFICATION: I, Kathy Hollywood, City Clerk of the City of Encinitas, California, do hereby certify under penalty of perjury that the foregoing ordinance was duly and regularly introduced at a meeting of the City Council on the 24th day of April 2024 and that thereafter the said ordinance was duly and regularly adopted at a meeting of the City Council on the 8th day of May 2024 by the following vote, to wit:

AYES:Blackwell, Ehlers, Hinze, Kranz, LyndesNOES:NoneABSENT:NoneABSTAIN:None

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the official seal of the City of Encinitas, California, this 8th day of May, 2024.

DocuSigned by:

Kathy Hollywood

Kathy Hollywood, City Clerk

Cardiff Sanitary Division Rate Schedule for Annual Sewer Service Charges Effective July 1, 2024 - June 30, 2025

Users/Class			HCF Rate	Median Annual HCF	Median Charge	
Group I Residential					New Connect water consum	ions (no prior ption history)
Single Family	SF	\$ 54.20	\$	6.34	87.2	\$607.05
Multi Family	MF	See below	\$	6.34	Average Charge	\$429.22/unit
Trailer Park	TP	See below	\$	6.34	Average Charge	\$429.22/unit
Non-Residential					New Connect water consum	ions (no prior ption history)
Commercial Group II	See reverse	See below	\$	6.66	See reverse	See reverse
Commercial Group III	See reverse	See below	\$	8.66	See reverse	See reverse
Commercial Group IV	See reverse	See below	\$	13.01	See reverse	See reverse

Multi Family* and Non-Residential Fixed Meter Charge						
Meter Size	Ann	ual Charge	Meter Size	Annua	al Charge	
5/8"	\$	54.20	1-1/2"	\$	271.02	
3/4"	\$	81.31	2"	\$	433.62	
1"	\$	135.50	3"	\$	813.04	
* Multi Family - Fixed Mete	or Chargo y	2	*			

* Multi Family = Fixed Meter Charge x 2

Water Consumption Periods To Be Used

<u>**Residential**</u> = 2 Lowest Periods of Water Consumption For Meter Readings Occurring Between Dec.-May (most recent available 5-year period)

Non-Residential (Commercial) = Water Consumption For Meter Readings Occurring Between July-June of Preceding Year

Return to Sewer (RTS) Percentages

Residential = 85%

Non-Residential (Commercial) = 95%

Formula For Determining Annual Sewer Service Charge Residential

Find 1 st and 2 nd lowest bi-monthly meter readings (DecMay) for most recent 5 years	(1st Lowest Read + 2nd Lowest Read) x 3 = Total HCF/yr Total HCF/yr x RTS = Billable HCF/yr (Billable HCF/yr x HCF Rate) + Fixed Meter Charge = Annual Sewer Charge
--	---

Non-Residential

Cardiff Sanitary Division Non-Residential Customer Classification Effective July 1, 2024 - June 30, 2025

Users/Class	Sub Category	 it Cost erHCF)	Annual HCF (New Connections)	Median Usage Charge (New Connections)
Group II Commercial			·	
Softwater Service	SW	\$ 6.66		
Car Wash	CW	\$ 6.66	1,520	\$10,123.20
Office Building	OF	\$ 6.66	200	\$1,332.00
Fire Station	FS	\$ 6.66	110	\$732.60
Professional Building (Doctor)	PB	\$ 6.66	160	\$1,065.60
Veterinary Clinic	VC	\$ 6.66		
Athletic Gymnasium	G	\$ 6.66	1,340	\$8,924.40
Laundromat	L	\$ 6.66	990	\$6,593.40
Department and Retail Store	DRS	\$ 6.66	120	\$799.20
Warehouse	W	\$ 6.66	1,050	\$6,993.00
Hospital, Convalescent Home	HCH	\$ 6.66	3,240	\$21,578.40
Parks	PB	\$ 6.66	510	\$3,396.60
Church-Membership Organization	С	\$ 6.66	440	\$2,930.40
Membership Organization (Non-Church)	MO	\$ 6.66	240	\$1,598.40
Social Services	SS	\$ 6.66	160	\$1,065.60
Group III Commercial				
Hotels-Motels (without restaurant)	HM	\$ 8.66	890	\$7,707.40
Repair and Service Station	RSS	\$ 8.66	70	\$606.20
Shopping Center	SC	\$ 8.66	1,030	\$8,919.80
Kennel	K	\$ 8.66	900	\$7,794.00
Coffee Shop	CS	\$ 8.66		
Amusement Park	AP	\$ 8.66		
Nightclub/Bar	NC	\$ 8.66	320	\$2,771.20
Commercial Laundry	CL	\$ 8.66		
Manufacturing	М	\$ 8.66	180	\$1,558.80
Lumber Yard	LY	\$ 8.66		
Group IV Commercial				
Hotels-Motel (with restaurant)	HM	\$ 13.01	3,130	\$40,721.30
Bakery (wholesale)/Food Processor	BW	\$ 13.01		
Supermarket	SM	\$ 13.01	1,030	\$13,400.30
Mortuary	MT	\$ 13.01	300	\$3,903.00
Restaurant	R	\$ 13.01	600	\$7,806.00

Cardiff Sanitary Division Rate Schedule for Annual Sewer Service Charges Effective July 1, 2025 - June 30, 2026

Users/Class	Sub Fixed Meter HCF Users/Class Category Charge Rate		Median Annual HCF	Median Charge	
Group I Residential					tions (no prior nption history)
Single Family	SF	\$ 62.33	\$ 7.29	99.65	\$788.78
Multi Family	MF	See below	\$ 7.29		\$373.12/unit
Trailer Park	TP	See below	\$ 7.29		\$373.12/unit
Non-Residential					tions (no prior nption history)
Commercial Group II	See reverse	See below	\$ 7.66	See reverse	See reverse
Commercial Group III	See reverse	See below	\$ 9.96	See reverse	See reverse
Commercial Group IV	See reverse	See below	\$ 14.96	See reverse	See reverse

	Multi Family* and Non-Residential Fixed Meter Charge						
	Meter Size	Anr	nual Charge	Meter Size	Ann	ual Charge	
ſ	5/8"	\$	62.33	1-1/2"	\$	311.67	
	3/4"	\$	93.51	2"	\$	498.66	
	1"	\$	155.83	3"	\$	935.00	

* Multi Family = Fixed Meter Charge x 2

Water Consumption Periods To Be Used

<u>**Residential**</u> = 2 Lowest Periods of Water Consumption For Meter Readings Occurring Between Dec.-May (most recent available 5-year period)

Non-Residential (Commercial) = Water Consumption For Meter Readings Occurring Between July-June of Preceding Year

Return to Sewer (RTS) Percentages

Residential = 85%

Non-Residential (Commercial) = 95%

Formula For Determining Annual Sewer Service Charge

Resid	ential

	FindlstLowest Find2ndLowest						
	MeterReadings MeterReadings	Average1st	A	Total	Billable		A
	(betweenDec-(betweenDec-	0	Average2nd			Fived Motor	Annual
	· · · · · · · · · · · · · · · · · · ·	Lowest +	Lowest $X3 =$	Annual	X RTS = Annual	X HCFRate \pm =	Sewer
	May) for most May) for most	Readings	Readings	HCF	HCF	Charge	0
	recent available recent available	Readings	Readings	ПСГ	псг		Charge
	5-yearperiod 5-yearperiod						
- 5							

Non-Residential

Cardiff Sanitary Division Non-Residential Customer Classification Effective July 1, 2025 - June 30, 2026

Users/Class	Sub Category	1000	it Cost erHCF)	Annual HCF (New Connections)	Median Usage Charge (New Connections)
Group II Commercial					,
Softwater Service	SW	\$	7.66		
Car Wash	CW	\$	7.66	1,520	\$11,643.20
Office Building	OF	\$	7.66	200	\$1,532.00
Fire Station	FS	\$	7.66	110	\$842.60
Professional Building (Doctor)	PB	\$	7.66	160	\$1,225.60
Veterinary Clinic	VC	\$	7.66		
Athletic Gymnasium	G	\$	7.66	1,340	\$10,264.40
Laundromat	L	\$	7.66	990	\$7,583.40
Department and Retail Store	DRS	\$	7.66	120	\$919.20
Warehouse	W	\$	7.66	1,050	\$8,043.00
Hospital, Convalescent Home	HCH	\$	7.66	3,240	\$24,818.40
Parks	PB	\$	7.66	510	\$3,906.60
Church-Membership Organization	С	\$	7.66	440	\$3,370.40
Membership Organization (Non-Church)	MO	\$	7.66	240	\$1,838.40
Social Services	SS	\$	7.66	160	\$1,225.60
Group III Commercial					
Hotels-Motels (without restaurant)	HM	\$	9.96	890	\$8,864.40
Repair and Service Station	RSS	\$	9.96	70	\$697.20
Shopping Center	SC	\$	9.96	1,030	\$10,258.80
Kennel	K	\$	9.96	900	\$8,964.00
Coffee Shop	CS	\$	9.96		
Amusement Park	AP	\$	9.96		
Nightclub/Bar	NC	\$	9.96	320	\$3,187.20
Commercial Laundry	CL	\$	9.96		
Manufacturing	М	\$	9.96	180	\$1,792.80
Lumber Yard	LY	\$	9.96		
Group IV Commercial					
Hotels-Motel (with restaurant)	HM	\$	14.96	3,130	\$46,824.80
Bakery (wholesale)/Food Processor	BW	\$	14.96		
Supermarket	SM	\$	14.96	1,030	\$15,408.80
Mortuary	MT	\$	14.96	300	\$4,488.00
Restaurant	R	\$	14.96	600	\$8,976.00

Cardiff Sanitary Division Rate Schedule for Annual Sewer Service Charges Effective July 1, 2026 - June 30, 2027

Users/Class	Sub Category	Fixed Meter Charge	HCF Rate	Median Annual HCF	Median Charge
Group I Residential					tions (no prior nption history)
Single Family	SF	\$ 71.68	\$ 8.38	99.65	\$906.75
Multi Family	MF	See below	\$ 8.38		\$373.12/unit
Trailer Park	TP	See below	\$ 8.38		\$373.12/unit
Non-Residential					tions (no prior nption history)
Commercial Group II	See reverse	See below	\$ 8.81	See reverse	See reverse
Commercial Group III	See reverse	See below	\$ 11.45	See reverse	See reverse
Commercial Group IV	See reverse	See below	\$ 17.20	See reverse	See reverse

 Multi Family* and Non-Residential Fixed Meter Charge						
Meter Size	Ann	ual Charge	Meter Size	Anr	nual Charge	
5/8"	\$	71.68	1-1/2"	\$	358.42	
3/4"	\$	107.54	2"	\$	573.46	
1"	\$	179.20	3"	\$	1,075.25	

* Multi Family = Fixed Meter Charge x 2

Water Consumption Periods To Be Used

<u>**Residential**</u> = 2 Lowest Periods of Water Consumption For Meter Readings Occurring Between Dec.-May (most recent available 5-year period)

Non-Residential (Commercial) = Water Consumption For Meter Readings Occurring Between July-June of Preceding Year

Return to Sewer (RTS) Percentages

Residential = 85%

Non-Residential (Commercial) = 95%

Formula For Determining Annual Sewer Service Charge

Resid	ential

FindlstLowest Find2ndLowest						
MeterReadings MeterReadings	Average1st	A	Total	Billable		A
(betweenDec-(betweenDec-	0	Average2nd			Fived Meter	Annual
· · · · · · · · · · · · · · · · · · ·	Lowest +	Lowest $X3 =$	Annual	X RTS = Annual	X HCFRate \pm =	Sewer
May) for most May) for most	Readings	Readings	HCF	HCF	Charge	Channa
recent available recent available	Readings	Readings	ПСГ	ПСГ		Charge
5-yearperiod 5-yearperiod						

Non-Residential

Cardiff Sanitary Division Non-Residential Customer Classification Effective July 1, 2026 - June 30, 2027

Users/Class	Sub Category	 it Cost erHCF)	Annual HCF (New Connections)	Median Usage Charge (New Connections)
Group II Commercial			·	-
Softwater Service	SW	\$ 8.81		
Car Wash	CW	\$ 8.81	1,520	\$13,391.20
Office Building	OF	\$ 8.81	200	\$1,762.00
Fire Station	FS	\$ 8.81	110	\$969.10
Professional Building (Doctor)	PB	\$ 8.81	160	\$1,409.60
Veterinary Clinic	VC	\$ 8.81		
Athletic Gymnasium	G	\$ 8.81	1,340	\$11,805.40
Laundromat	L	\$ 8.81	990	\$8,721.90
Department and Retail Store	DRS	\$ 8.81	120	\$1,057.20
Warehouse	W	\$ 8.81	1,050	\$9,250.50
Hospital, Convalescent Home	HCH	\$ 8.81	3,240	\$28,544.40
Parks	PB	\$ 8.81	510	\$4,493.10
Church-Membership Organization	С	\$ 8.81	440	\$3,876.40
Membership Organization (Non-Church)	MO	\$ 8.81	240	\$2,114.40
Social Services	SS	\$ 8.81	160	\$1,409.60
Group III Commercial				
Hotels-Motels (without restaurant)	HM	\$ 11.45	890	\$10,190.50
Repair and Service Station	RSS	\$ 11.45	70	\$801.50
Shopping Center	SC	\$ 11.45	1,030	\$11,793.50
Kennel	K	\$ 11.45	900	\$10,305.00
Coffee Shop	CS	\$ 11.45		
Amusement Park	AP	\$ 11.45		
Nightclub/Bar	NC	\$ 11.45	320	\$3,664.00
Commercial Laundry	CL	\$ 11.45		
Manufacturing	М	\$ 11.45	180	\$2,061.00
Lumber Yard	LY	\$ 11.45		
Group IV Commercial		 		
Hotels-Motel (with restaurant)	HM	\$ 17.20	3,130	\$53,836.00
Bakery (wholesale)/Food Processor	BW	\$ 17.20		
Supermarket	SM	\$ 17.20	1,030	\$17,716.00
Mortuary	MT	\$ 17.20	300	\$5,160.00
Restaurant	R	\$ 17.20	600	\$10,320.00

Cardiff Sanitary Division Rate Schedule for Annual Sewer Service Charges Effective July 1, 2027 - June 30, 2028

Users/Class	Sub Category	Fixed Meter Charge	HCF Rate	Median Annual HCF	Median Charge
Group I Residential					tions (no prior nption history)
Single Family	SF	\$ 82.43	\$ 9.64	99.65	\$1,043.06
Multi Family	MF	See below	\$ 9.64		\$373.12/unit
Trailer Park	TP	See below	\$ 9.64		\$373.12/unit
Non-Residential				New Connections (no prio water consumption history)	
Commercial Group II	See reverse	See below	\$ 10.13	See reverse	See reverse
Commercial Group III	See reverse	See below	\$ 13.17	See reverse	See reverse
Commercial Group IV	See reverse	See below	\$ 19.78	See reverse	See reverse

Multi Family* and Non-Residential Fixed Meter Charge									
Meter Size	Anr	nual Charge	Meter Size	Anr	nual Charge				
5/8"	\$	82.43	1-1/2"	\$	412.18				
3/4"	\$	123.67	2"	\$	659.48				
1"	\$	206.08	3"	\$	1,236.54				

* Multi Family = Fixed Meter Charge x 2

Water Consumption Periods To Be Used

<u>Residential</u> = 2 Lowest Periods of Water Consumption For Meter Readings Occurring Between Dec.-May (most recent available 5-year period)

Non-Residential (Commercial) = Water Consumption For Meter Readings Occurring Between July-June of Preceding Year

Return to Sewer (RTS) Percentages

Residential = 85%

Non-Residential (Commercial) = 95%

Formula For Determining Annual Sewer Service Charge

Resid	ential

FindlstLowest Find2ndLowest						
MeterReadings MeterReadings	Average1st	Average2nd	Total	Billable		A
(betweenDec-(betweenDec-	-	0			FixedMeter	Annual
May) for most May) for most	Lowest +			X RTS = Annual	X HCFRate + Charge	= Sewer
recent available recent available	Readings	Readings	HCF	HCF	U	Charge
5-vearperiod 5-vearperiod						

Non-Residential

Cardiff Sanitary Division Non-Residential Customer Classification Effective July 1, 2027 - June 30, 2028

Users/Class	Sub Category	 it Cost erHCF)	Annual HCF (New Connections)	Median Usage Charge (New Connections)
Group II Commercial				
Softwater Service	SW	\$ 10.13		
Car Wash	CW	\$ 10.13	1,520	\$15,397.60
Office Building	OF	\$ 10.13	200	\$2,026.00
Fire Station	FS	\$ 10.13	110	\$1,114.30
Professional Building (Doctor)	PB	\$ 10.13	160	\$1,620.80
Veterinary Clinic	VC	\$ 10.13		
Athletic Gymnasium	G	\$ 10.13	1,340	\$13,574.20
Laundromat	L	\$ 10.13	990	\$10,028.70
Department and Retail Store	DRS	\$ 10.13	120	\$1,215.60
Warehouse	W	\$ 10.13	1,050	\$10,636.50
Hospital, Convalescent Home	HCH	\$ 10.13	3,240	\$32,821.20
Parks	PB	\$ 10.13	510	\$5,166.30
Church-Membership Organization	С	\$ 10.13	440	\$4,457.20
Membership Organization (Non-Church)	MO	\$ 10.13	240	\$2,431.20
Social Services	SS	\$ 10.13	160	\$1,620.80
Group III Commercial				
Hotels-Motels (without restaurant)	HM	\$ 13.17	890	\$11,721.30
Repair and Service Station	RSS	\$ 13.17	70	\$921.90
Shopping Center	SC	\$ 13.17	1,030	\$13,565.10
Kennel	K	\$ 13.17	900	\$11,853.00
Coffee Shop	CS	\$ 13.17		
Amusement Park	AP	\$ 13.17		
Nightclub/Bar	NC	\$ 13.17	320	\$4,214.40
Commercial Laundry	CL	\$ 13.17		
Manufacturing	М	\$ 13.17	180	\$2,370.60
Lumber Yard	LY	\$ 13.17		
Group IV Commercial				
Hotels-Motel (with restaurant)	HM	\$ 19.78	3,130	\$61,911.40
Bakery (wholesale)/Food Processor	BW	\$ 19.78		
Supermarket	SM	\$ 19.78	1,030	\$20,373.40
Mortuary	MT	\$ 19.78	300	\$5,934.00
Restaurant	R	\$ 19.78	600	\$11,868.00

Cardiff Sanitary Division Rate Schedule for Annual Sewer Service Charges Effective July 1, 2028 - June 30, 2029

Users/Class	Sub Category	Fixed Meter Charge	HCF Rate	Median Annual HCF	Median Charge
Group I Residential					tions (no prior nption history)
Single Family	SF	\$ 90.67	\$ 10.60	99.65	\$1,146.96
Multi Family	MF	See below	\$ 10.60		\$373.12/unit
Trailer Park	TP	See below	\$ 10.60		\$373.12/unit
Non-Residential				New Connections (no prior water consumption history)	
Commercial Group II	See reverse	See below	\$ 11.14	See reverse	See reverse
Commercial Group III	See reverse	See below	\$ 14.49	See reverse	See reverse
Commercial Group IV	See reverse	See below	\$ 21.76	See reverse	See reverse

_	Multi F					
	Meter Size	Anr	nual Charge	Meter Size	Ann	nual Charge
Γ	5/8"	\$	90.67	1-1/2"	\$	453.40
	3/4"	\$	136.04	2"	\$	725.43
	1"	\$	226.69	3"	\$	1,360.19

* Multi Family = Fixed Meter Charge x 2

Water Consumption Periods To Be Used

<u>**Residential**</u> = 2 Lowest Periods of Water Consumption For Meter Readings Occurring Between Dec.-May (most recent available 5-year period)

Non-Residential (Commercial) = Water Consumption For Meter Readings Occurring Between July-June of Preceding Year

Return to Sewer (RTS) Percentages

Residential = 85%

Non-Residential (Commercial) = 95%

Formula For Determining Annual Sewer Service Charge

Resid	ential

FindlstLowest Find2ndLowest						
MeterReadings MeterReadings	Average1st	Average2nd	Total	Billable		A
(betweenDec-(betweenDec-	-	0			FixedMeter	Annual
May) for most May) for most	Lowest +			X RTS = Annual	X HCFRate + Charge	= Sewer
recent available recent available	Readings	Readings	HCF	HCF	U	Charge
5-vearperiod 5-vearperiod						

Non-Residential

Cardiff Sanitary Division Non-Residential Customer Classification Effective July 1, 2028 - June 30, 2029

Users/Class	Sub Category	 it Cost erHCF)	Annual HCF (New Connections)	Median Usage Charge (New Connections)
Group II Commercial				
Softwater Service	SW	\$ 11.14		
Car Wash	CW	\$ 11.14	1,520	\$16,932.80
Office Building	OF	\$ 11.14	200	\$2,228.00
Fire Station	FS	\$ 11.14	110	\$1,225.40
Professional Building (Doctor)	PB	\$ 11.14	160	\$1,782.40
Veterinary Clinic	VC	\$ 11.14		
Athletic Gymnasium	G	\$ 11.14	1,340	\$14,927.60
Laundromat	L	\$ 11.14	990	\$11,028.60
Department and Retail Store	DRS	\$ 11.14	120	\$1,336.80
Warehouse	W	\$ 11.14	1,050	\$11,697.00
Hospital, Convalescent Home	HCH	\$ 11.14	3,240	\$36,093.60
Parks	PB	\$ 11.14	510	\$5,681.40
Church-Membership Organization	С	\$ 11.14	440	\$4,901.60
Membership Organization (Non-Church)	MO	\$ 11.14	240	\$2,673.60
Social Services	SS	\$ 11.14	160	\$1,782.40
Group III Commercial				
Hotels-Motels (without restaurant)	HM	\$ 14.49	890	\$12,896.10
Repair and Service Station	RSS	\$ 14.49	70	\$1,014.30
Shopping Center	SC	\$ 14.49	1,030	\$14,924.70
Kennel	К	\$ 14.49	900	\$13,041.00
Coffee Shop	CS	\$ 14.49		
Amusement Park	AP	\$ 14.49		
Nightclub/Bar	NC	\$ 14.49	320	\$4,636.80
Commercial Laundry	CL	\$ 14.49		
Manufacturing	М	\$ 14.49	180	\$2,608.20
Lumber Yard	LY	\$ 14.49		
Group IV Commercial				
Hotels-Motel (with restaurant)	НМ	\$ 21.76	3,130	\$68,108.80
Bakery (wholesale)/Food Processor	BW	\$ 21.76		
Supermarket	SM	\$ 21.76	1,030	\$22,412.80
Mortuary	MT	\$ 21.76	300	\$6,528.00
Restaurant	R	\$ 21.76	600	\$13,056.00